Ry 'ﬁ:'? TN AWy KXX¥212 PRWD ,72nn2% XPX 1K WY I DR WOW 1172 KX 10 OXY AWy
o°wi "192 '[13'? 1w TR MTIN (3"po2) 2”1Wnn 2NoW "R 1D I W IR LONYTY 1AM 0T
(B 79PN 3 7°Y02 72MN poRY 110 ,Mmabm aw X5 113’7 21 W Rnnn YT 5% OX TR WOK)
0 3w 37 I Pw3a 7121 yane XY — 0°non oW TR XD

7193 T13% 197 PR OX 197581 /T U7 10 Rawn oo whw N2 3% v aennab T

DWW Ty P DWIN 7Y 12 X OX1] 1907 %193 XPW 12’ — AwSw TN 7N T80
L@y 271m 1,0 1R ey [9710 o

Ty "ey) [O°7° AW TV DM W] 19720 TR — Iy DWW TV 72170 T M2y
T OXW YBYR ,N0137 N72% NRXY D12 Tann [Twnn W] O wtw A3 9w IR0 L0 newn
.0 /DN N7’ .0MpR 723 3R 0 N0 Pan 2 T

AR 137 (k30”00 >BY) MY TN 2T 535 ,M2°%7 7123 "3DR @2 TTRY3 '[12'7 v .a

B RPIY A 1 .(172) 727072 0722 DYRITY yewn — b oupt apma
LTI X731 DY) NAIYN TN PR VX YDy) TTHY NYOY Y9N3 13Tw X

T qom

72777 X3 772 210 TR OO0 ARNTAL RIN 37 TPID? NIT XN 70N AT 27 DY 19107 .0

KW I L0127 Py PN Ay CB? LTITPR UMR DRSO MR — XIBY? JAT XD 191
oWk Twy ow ] ran
T PR R KO onae WK AP M /ANy yan’ IR0 b prw] XYY K? — AR’ 73y XD OX LN

273wn »5y) IXIT? TI2MT PIONI K? 1DR KXV TAX’ YW [ob3 Tax &b "onaw’ meya
(7 3Py bR YY1 AR ¥y

py m‘rnp 'y = 712 27NN3 X2 MIY XM 020 DX 72 W00 07 2APnaw’ 1ol 1an My T R
7L e Ty 5

X"PYT MAXT2 — 92713 27 N XD AP AW A2 ,79722 27°AN3 J1anT 03 DX
vaw o) DRTMK NPIPNRA2 MW 77 92T YyRwn D727 ‘0131 ,1372 PEN0IY A X327
Noak Gilkirhi

Y2 19°DX1 131P W 1IMX 1°DX 1770 DY Movm owa omiay’ 1372 2% X5w o1 .2

12 03w 2N3W M WM 023720 127 5y TR PaR By 12 7251 112 5y X e By
LD DPNA-AD21 PRI 77T 0w [3%0 K1 071 273w *Upy) A KD AN KPR 1PN THm
(]2 AWYR "1 By ANy YR X21IPKT XOW AN MR XOX 1K 1279 TRbm 1y 12w

oo nna? AR DORWT — /AN’ P73y N2 T XXW 12 YT Y2 man> 7021 DX
"7y 2P0 2"3wn 'y) 19 MYy

1l — T2 DYhT

MW DI DWIR 19K K IR
2077ZPR 19RY IR D@ PMAYY PR° DDINRT AT 37 73R 02T Y 19K 2
PMMEY2 oY IR 17PN 0737 19K 20°RAM7 DUOIEY DURON 1A 07737 19K .3

™M



11272 — 013702 NIWM M2RW

DTX W L7991 AN TN T GRIN XAPINN L9910 TN 0w 007 IwOw T 27 MK X
,PT1 300 NYW Own oX ,0RY AN I ATew) 72992 oonon vTnbn A domIN v JPaR AR
oomoxa AW NYW 0NN OX

INPEN3 PIRAT SOIX DY PMIYT TR0 2 0v3Rn [O72 ReT] 0727 et e 30 MR L3
— 5[7ama2 S9pnaw 5% WP AW NY 1272 TN — 73 PUYR 1KY 7292 ,00nn12 namw]
TPWa 0°°01 1213 21037 AND 97 ."w1) D°0ITBNMI IR 0TIy 0 TINRW) Unw Py TR
L8R WIPAN TP PRY WIYw 12 — ¢ 005 TN (e 1158 92 Lk whw pp nanam
— (%Y Tpon OTR Pw unbw
Tap3 99 PNBw M2 by 2w =) 7207 X2 IR LMIDYIP IO 277 MY pTIAW] X037 1723 TIRRT
LOPIINAN 75 MY NX*2A KT AT MY TNNY L @onns
— ;07X DW PREYY TR0 O%pR 03T vt
IPRY ,T12% 1972 D 01D — (PEY TN A RNT D) RIP PRI MIP? AN DO 1 DAY N
;@waen LT92RY MR, 070 Pyab Jh2bn YInITw NG Y ANK 17 999m1 713130 1593K) TR
MIY AT 235 ,PNK? DT A0 DR M IDR X1IN T2 RPN K] LGNNI MY 20
[maama

DRM) 7AW 7AW L¢3 190 2% o 25D) 2 Ton ;BN D°2I% AR 127 TR AT 27 MK L3
L3R 3SR 270 DD G PYNR T Tt e 1A PpLN ey
YW (o2 1T RIP 03) 2P0 37 ORT MY 772pN aRY 1o 01T IWHw (AR Y27 TN
AR TN R e DR /921 210 03991,(3P B39 1N NS IAN S 13 DN NPy
(5852 DWa

11 — 12 D181

STITIR K202 IR 27N PR AP
29I P Imanen=oR / 1manen N
Yo=K YT DR IR 2w a1en navbn .
.5%2) orby o%In DIRY DbAR RwNI LA
%n navns .7
.(°%53) mbnn s .n
.171NBY 27D MMen .

A210 Opnn ¥ 0190 K21 1210 0pNn 270 0190 KD :XTOM 27 MK X
0°137 822 21217 TWOX *X 72 120 K22 727 WK KW oW #AY 12 YR 227 DWwR 130T 227 MR
ON2 927 N 1305 9 LO0R 3T 92T 1N 13T TR D51 950 D5R 1N N 81AXT) D902

JL...A0TR — Pan] ©pnn 1K 1210 — O7PNR NIPHY B By AR 010 19372 27 MK (7
JL..AoTR = T2an] A3 273 7Y (@°pR°w) 2W 01PN OIX 1937 O2YY 7 *37 MK
2y X3 NP T DY XD XOWR XD — 113 Rt mnbm 2102113 93T ;bna 2100 ,Twpn X2

T
17





